

Matsyodari Shikshan Sanstha's
Arts College, Tirthpuri
Year wise Feedback Analysis Report
Feedback on Curriculum by Students

2010-2021(BAFY)

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	46(92.00%)	03(6.00%)	01(2.00%)	00(00.00%)
2	Aims and objectives of the syllabi are well defined	38(76.00%)	07(14.00%)	03(6.00%)	02(4.00%)
3	The course/programme has good balance between theory and application	30(60.00%)	10(20.00%)	07(14.00%)	03(6.00%)
4	Is the curriculum useful in imparting transferrable and life skills?	04(8.00%)	34(68.00%)	09(18.00%)	03(6.00%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	04(8.00%)	38(76.00%)	04(8.00%)	04(8.00%)
6	Do you feel that the curriculum is having employability enhancing contents?	12(24.00%)	33(66.00%)	03(6.00%)	02(4.00%)
7	Does the course help in inculcating social adaption in the positive sense?	05(10.00%)	40(80.00%)	04(8.00%)	01(2.00%)
8	Does the course address current issues like gender sensitization and environmental issues?	07(14.00%)	39(78.00%)	03(6.00%)	01(2.00%)
9	Does the course stimulate further for extra learning and self learning?	03(6.00%)	44(88.00%)	02(4.00%)	01(2.00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	42(84.00%)	02(4.00%)	04(8.00%)	02(4.00%)

Matsyodari Shikshan Sanstha's

Arts College, Tirthpuri

Year wise Feedback Analysis Report

Feedback on Curriculum by Students

2020-2021 (BASY)

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	43(86.00%)	03(6.00%)	02(4.00 %)	02(4.00%)
2	Aims and objectives of the syllabi are well defined	40(80.00%)	03(6.00%)	04(8.00 %)	03(6.00%)
3	The course/programme has good balance between theory and application	32(64.00%)	06(12.00 %)	11(22.00 %)	01(2.00%)
4	Is the curriculum useful in imparting transferrable and life skills?	02(4.00%)	35(70.00 %)	10(20.00 %)	03(6.00%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	02(4.00%)	42(84.00%)	04(8.00 %)	02(4.00%)
6	Do you feel that the curriculum is having employability enhancing contents?	08(16.00%)	36(72.00 %)	03(6.00 %)	03(6.00%)
7	Does the course help in inculcating social adaption in the positive sense?	04(8.00%)	36(72.00 %)	05(10.00 %)	05(10.00%)
8	Does the course address current issues like gender sensitization and environmental issues?	02(4.00%)	40(80.00%)	03(6.00 %)	05(10.00%)
9	Does the course stimulate further for extra learning and self learning?	06(12.00%)	39(78.00%)	03(6.00 %)	02(4.00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	41(82.00%)	02(4.00%)	04(8.00 %)	03(6.00%)

Matsyodari Shikshan Sanstha's

Arts College, Tirthpuri

Year wise Feedback Analysis Report

Feedback on Curriculum by Students

2020-2021 (BATY)

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	44(88.00%)	05(10.00%)	01(2.00%)	00(00.00%)
2	Aims and objectives of the syllabi are well defined	40(80.00%)	06(12.00%)	04(8.00%)	00(00.00%)
3	The course/programme has good balance between theory and application	33(66.00%)	09(18.00%)	06(12.00%)	02(4.00%)
4	Is the curriculum useful in imparting transferrable and life skills?	05(10.00%)	34(68.00%)	09(18.00%)	02(4.00%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	05(10.00%)	38(76.00%)	04(8.00%)	03(6.00%)
6	Do you feel that the curriculum is having employability enhancing contents?	04(8.00%)	40(80.00%)	06(12.00%)	00(00.00%)
7	Does the course help in inculcating social adaption in the positive sense?	04(8.00%)	38(76.00%)	06(12.00%)	02(4.00%)
8	Does the course address current issues like gender sensitization and environmental issues?	04(8.00%)	40(80.00%)	02(4.00%)	04(8.00%)
9	Does the course stimulate further for extra learning and self learning?	03(6.00%)	45(90.00%)	00(00.00%)	02(4.00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	40(80.00%)	06(12.00%)	04(8.00%)	02(4.00%)

Matsyodari Shikshan Sanstha's

Arts College, Tirthpuri

Year wise Feedback Analysis Report

Feedback on Curriculum by Parents

2020-2021

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	09(60%)	02(13.33%)	03(20%)	01(6.67%)
2	Aims and objectives of the syllabi are well defined	10(66.67%)	01(6.67%)	02(13.33%)	02(13.33%)
3	The course/programme has good balance between theory and application	04(26.67%)	05(33.33%)	06(40%)	00(00%)
4	Is the curriculum useful in imparting transferrable and life skills?	02(13.33%)	09(60%)	03(20%)	01(6.67%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	04(26.67%)	09(60%)	00(00%)	02(13.33%)
6	Do you feel that the curriculum is having employability enhancing contents?	02(13.33%)	10(66.67%)	01(6.67%)	02(13.33%)
7	Does the course help in inculcating social adaption in the positive sense?	01(6.67%)	11(73.33%)	03(20%)	00(00%)
8	Does the course address current issues like gender sensitization and environmental issues?	03(20%)	10(66.67%)	02(13.33%)	00(00%)
9	Does the course stimulate further for extra learning and self learning?	04(26.67%)	11(73.33%)	00(00%)	00(00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	10(66.67%)	05(33.33%)	00(00%)	00(00%)

Arts College, Tirthpuri

Year wise Feedback Analysis Report

Feedback on Curriculum by Alumni

2020-21

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	05(50%)	01(10%)	04(40%)	00(00%)
2	Aims and objectives of the syllabi are well defined	10(100%)	00(00%)	00(00%)	00(00%)
3	The course/programme has good balance between theory and application	01(10%)	00(00%)	09(90%)	00(00%)
4	Is the curriculum useful in imparting transferrable and life skills?	00(00%)	04(40%)	06(60%)	00(00%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	02(20%)	08(80%)	00(00%)	00(00%)
6	Do you feel that the curriculum is having employability enhancing contents?	00(00%)	09 (90%)	01(10%)	00(00%)
7	Does the course help in inculcating social adaption in the positive sense?	01(10%)	08(80%)	00(00%)	01(10%)
8	Does the course address current issues like gender sensitization and environmental issues?	00(00%)	10(100%)	00(00%)	00(00%)
9	Does the course stimulate further for extra learning and self learning?	02 (20%)	08 (80%)	00(00%)	00(00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	10(100%)	00(00%)	00(00%)	00(00%)

Matsyodari Shikshan Sanstha's

Arts College, Tirthpuri

Year wise Feedback Analysis Report

Feedback on Curriculum by Teachers

2020-2021

Sr. No.	Question	Strongly Positive	Positive	Negative	Neutral
1.	The syllabus of each course was adequate	14(93.33%)	01(6.67%)	00(00%)	00(00%)
2	Aims and objectives of the syllabi are well defined	13(86.66%)	00(00%)	02(13.34%)	00(00%)
3	The course/programme has good balance between theory and application	14(93.33%)	00(00%)	01(6.67%)	00(00%)
4	Is the curriculum useful in imparting transferrable and life skills?	12(80.00%)	02(13.34%)	01(6.67%)	00(00%)
5	How far does the course contribute to inculcate ethics, values and moral sense?	03(20%)	12(80.00%)	00(00%)	00(00%)
6	Do you feel that the curriculum is having employability enhancing contents?	00(00%)	14(93.33%)	01(6.67%)	00(00%)
7	Does the course help in inculcating social adaption in the positive sense?	01(6.67%)	14(93.33%)	00(00%)	00(00%)
8	Does the course address current issues like gender sensitization and environmental issues?	02(13.34%)	12(80.00%)	01(6.67%)	00(00%)
9	Does the course stimulate further for extra learning and self learning?	02(13.34%)	13(86.66%)	00(00%)	00(00%)
10	Are the curriculum enrichment methods adopted by the college adequate for a better understanding of the course content?	14(93.33%)	00(00%)	01(6.67%)	00(00%)